
14272 Chambers Road   •   Tustin, CA  92780
(800) 854-0137 • (714) 542-4487 • FAX (714) 972-2978

E-mail: Info@plasties.com   •  Website: www.plasties.com

Freight: FOB Tustin, CA
Terms:  Net 30 days
Prices subject to change without notification S:\Pricing & Literature\Plas-Ties\Technical\Repair Kits\HD SPARE PARTS KITS\K005038 HD38-220v Spare Parts Kits_11.30.18.xlsx

Part # Qty. Description Part # Qty. Description 

56805 4 1/4 Split Lock Washer P001160 4 External Snap Ring

56914 4 Shim 0.250 x 0.437 x 0.005  P001170 4 Crescent External Ring

A301075 1 HD Pinion Gear Assembly P001190 4 Snap Ring

A501035 1 Gear Segment Assembly For 
HD Series P001500 2 #10 Curved Spring Washer

M001080 1 Pin - Clevis P001730 2 Pinion Support Shim  0.26 x 
0.5 x0 .005

M001160 1 Needle Stop Cushion P001150 4 E-Ring - Bowed

M001200 1 Spacer - Switch {505} P001450 8 1/4" Lockwasher - Internal 
Tooth

M001220 1 Sleeve - Needle Pivot P001460 6 #4 Lockwasher Internal Tooth

M001260 1 Pin - Idler Wheel P001470 4 #8 Internal Tooth Washer

M001488 1 Spring - Needle Return P001480 8 #10 Lockwasher - Internal 
Tooth

M001489 1 HD38/58 Idler Arm Tension 
Spring P001570 3 Micro Switch - 110v

M001490 1 Spring - Trigger Return P001720 2 Shim: 0.503 X 0.748 X 0.004

M001499 1 Insulator Switch - 1 P002750 1 220 Volt Gear Motor

M001500 1 Insulator Switch - 2 P001920 2 Washer - Nylon No.8

M001501 1 Switch Insulator P005320 4 8-32 X 5/16 Socket Head 
Cap Screw

M001620 1 Cutter  For All Tie-Matic's & 
HD's P007066 1 Shim 0.012 x 0.5 ID x 0.75 

OD

P001010 1 Bushing Flanged FB46-4 S001145 1 Drum Material Feed HD38

P001140 4 E-Ring

K005078 :  HD78-220V Spare Parts Kit


	K005078 HD78 Spare Parts Kit

